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*UHJRU\�3��*X\WRQ��0'�LV�WKH�&KLHI�RI�WKH�)RRW�DQG�$QNOH�'LYLVLRQ�DQG�
)HOORZVKLS�'LUHFWRU�DW�8QLRQ�0HPRULDO�+RVSLWDO�LQ�%DOWLPRUH��0'���+H�
UHFHLYHG�KLV�%�6��LQ�3K\VLFV�IURP�9DQGHUELOW�8QLYHUVLW\�LQ������DQG�KLV�0�'��
IURP�WKH�+DUYDUG�0HGLFDO�6FKRRO���0,7�+HDOWK�6FLHQFHV�DQG�7HFKQRORJ\�
'LYLVLRQ�LQ��������,Q������KH�VHUYHG�DV�D�GLYLQJ�SK\VLRORJ\�ILHOG�UHVHDUFKHU�
ZLWK�WKH�8�6��$QWDUFWLF�5HVHDUFK�3URJUDP�DW�0F0XUGR�6WDWLRQ�LQ�DVVRFLDWLRQ�
ZLWK�WKH�0DVVDFKXVHWWV�*HQHUDO�+RVSLWDO���+H�FRPSOHWHG�UHVLGHQF\�DW�WKH�
8QLYHUVLW\�RI�,RZD�+RVSLWDOV�DQG�&OLQLFV�IURP������–������DQG�VWXGLHG�IRRW�
DQG�DQNOH�VXUJHU\�ZLWK�'U��&KDUOHV�6DOW]PDQ�DW�WKDW�WLPH��IROORZHG�E\�D�IRRW�
DQG�DQNOH�IHOORZVKLS�ZLWK�'U��5RJHU�0DQQ�LQ�2DNODQG��&$�LQ�������� 
 
'U��*X\WRQ�LV�D�'LUHFWRU�RI�WKH�$PHULFDQ�%RDUG�RI�2UWKRSDHGLF�6XUJHU\�DQG�LV�
WKH�FXUUHQW�9LFH-&KDLUPDQ�RI�WKH�:ULWWHQ�([DP�&RPPLWWHH����+H�LV�WKH�'HSXW\�
(GLWRU�IRU�)RRW�DQG�$QNOH�IRU�&OLQLFDO�2UWKRSDHGLFV�DQG�5HODWHG�5HVHDUFK�DQG�
LV�WKH�FXUUHQW�6XEVHFWLRQ�(GLWRU�RI�³:KDW¶V�1HZ�LQ�)RRW�DQG�$QNOH�6XUJHU\´�
IRU�WKH�-RXUQDO�RI�%RQH�DQG�-RLQW�6XUJHU\���+H�IRUPHUO\�VHUYHG�RQ�WKH�%RDUG�RI�
WKH�$PHULFDQ�2UWKRSDHGLF�)RRW�DQG�$QNOH�6RFLHW\�DQG�LV�D�PHPEHU�RI�WKH�
$VVRFLDWLRQ�RI�%RQH�DQG�-RLQW�6XUJHRQV��WKH�1RUWK�$PHULFDQ�)RRW�DQG�$QNOH�
$VVRFLDWLRQ��WKH�)RRW�&OXE��DQG�$$26���+LV�UHVHDUFK�LQWHUHVWV�LQFOXGH�
QHXURPXVFXODU�GLVRUGHUV�RI�WKH�IRRW�DQG�DQNOH��PLQLPDOO\�LQYDVLYH�WHFKQLTXHV��
DQG�RXWFRPHV�UHVHDUFK�LQ�VXUJHU\���+H�UHVLGHV�LQ�3KRHQL[��0DU\ODQG�ZLWK�KLV�
IDPLO\�DQG�UHPDLQV�DQ�DFWLYH�SLORW��DFWRU��DQG�EDFNSDFNHU� 
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